2017

Provincial Institute of Teacher Education-Peshawar

PITE

[TENDER FORM FOR PRINTING OF PENA FLEXES] PITE-PESHAWAR

ٹینڈرکی تفصیل

فرم ياانيجنسي کانا م	_!
ی <i>نچر ا</i> ما لک نام	_۲
قو می شناختی کارڈنمبر(کا پی منسلک کریں)۔۔۔۔۔۔۔۔۔۔۔۔۔۔	_٣
تکمل پیټه اور نون نمبر	_6
بینک اکاونٹ نمبر	_0
يينک کاما م اور پية	۲_
أتم نيكس نمبر(كا بي منسلك كري)	_4
سابقہ تجربے کی تفصیل (اگرکوئی ہے)	_^
ىنىنۇركىكل مالىت (بىندسو ں مي ں)(الفاظ مي ں)	_9
كال ڎيپا زيشے كى رقم	_1•
بينک ڈرا فٹ نمبر ہوئے ہے۔۔۔۔۔ تا ریخ تا ریخ	_!!
بینک کانا م جہاں بینک ڈرا فٹ تیار کیا ہے۔۔۔۔۔۔	_11*
سیلز گفیس رجسٹریشن نمبر	_11~
فرم رجىئريشن نبر	_ 10'

د شخط ٹینڈ رد ہندہ

SPECIFICATIONS AND QUANTITY OF REQUIRED PENA FLEXES FOR PITE KHYBER PAKHTUNKHWA-PESHAWAR

SUMMAR ZONE SCHOOLS

S.#	Quality	Specifications	Each Flex size (In feet)	Total Quantity of flexes (In numbers)	Printing rates of flex		
					Per flex(5'x4')	Tax admissible	Total cost inclusive of all taxes
1	240 gm China Media	Class 1 – 90 PCs Class 2 – 90 PCs Class 3 – 90 PCs Class 4 – 90 PCs Class 5 – 90 PCs	5' X 4'	(90 X 5 = 450)			
2	260 gm China Media	Class 1 – 90 PCs Class 2 – 90 PCs Class 3 – 90 PCs Class 4 – 90 PCs Class 5 – 90 PCs	5' X 4'	90 X 5 = 450)			
3	360 gm Glossy Star Media	Class 1 – 90 PCs Class 2 – 90 PCs Class 3 – 90 PCs Class 4 – 90 PCs Class 5 – 90 PCs	5' X 4'	90 X 5 = 450)			
4	440 gm Glossy Star Media	Class 1 – 90 PCs Class 2 – 90 PCs Class 3 – 90 PCs Class 4 – 90 PCs Class 5 – 90 PCs	5' X 4'	90 X 5 = 450)			
5	Media Star China – Digital printing on Roland Machine Mat finish	Class 1 – 90 PCs Class 2 – 90 PCs Class 3 – 90 PCs Class 4 – 90 PCs Class 5 – 90 PCs	5' X 4'	90 X 5 = 450)			

SPECIFICATIONS AND QUANTITY OF REQUIRED PENA FLEXES FOR PITE KHYBER PAKHTUNKHWA-PESHAWAR

S.#	Quality	Specifications	Each Flex size (In feet)	Total Quantity of flexes (In numbers)	Printing rates of flex		
					Per flex(5'x4')	Tax admissible	Total cost inclusive of all taxes
1	240 gm China Media	Class 1 – 50 PCs Class 2 – 50 PCs Class 3 – 50 PCs Class 4 – 50 PCs Class 5 – 50 PCs	5' X 4'	(50 X 5 = 250)			
2	260 gm China Media	Class 1 – 50 PCs Class 2 – 50 PCs Class 3 – 50 PCs Class 4 – 50 PCs Class 5 – 50 PCs	5' X 4'	(50 X 5 = 250)			
3	360 gm Glossy Star Media	Class 1 – 50 PCs Class 2 – 50 PCs Class 3 – 50 PCs Class 4 – 50 PCs Class 5 – 50 PCs	5' X 4'	(50 X 5 = 250)			
4	440 gm Glossy Star Media	Class 1 – 50 PCs Class 2 – 50 PCs Class 3 – 50 PCs Class 4 – 50 PCs Class 5 – 50 PCs	5' X 4'	(50 X 5 = 250)			
5	Media Star China – Digital printing on Roland Machine Mat finish	Class 1 – 50 PCs Class 2 – 50 PCs Class 3 – 50 PCs Class 4 – 50 PCs Class 5 – 50 PCs	5' X 4'	(50 X 5 = 250)			

WINTER ZONE SCHOOLS

1. Rates are required from interested printers to print 700 flexes each size of 5 foot X 4 foot.

- 2. Designs will be provided to the selected printer (in Corel and JPG).
- 3. Each flex will have two steel rings/circles on the top corners.
- 4. The selected vender will deliver the printed material at PITE, Landy Sarak, Larama, Charsadda Road.
- 5. No extra payment will made for the delivery of flexes.
- 6. The bidder will have to provide rates of five different medias orienting material.
- 7. The purchase committee will select one of the QUALITY and the firm QUOTED lowest rates for the selected quality.

Signature and Office Seal Owner/Manager/Representative of firm Name/address of firm